

$$A'^{\mu} = (A^0, A^1, 0, 0)$$

Για $A^{\mu} = (A^0, A^1, 0, 0)$

1) $A^{\mu} = \begin{pmatrix} A^0 \\ A^1 \end{pmatrix}$ για ευκολία παραλείψουμε τις 3, 2 διαστάσεις

$$A_{\mu} = \eta_{\mu\nu} A^{\nu} = \begin{pmatrix} -1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} A^0 \\ A^1 \end{pmatrix} = \begin{pmatrix} -A^0 \\ A^1 \end{pmatrix}$$

$$2) A'^{\mu} = \begin{pmatrix} \gamma & -\gamma v \\ -\gamma v & \gamma \end{pmatrix} \begin{pmatrix} A^0 \\ A^1 \end{pmatrix} = \begin{bmatrix} \gamma(A^0 - v A^1) \\ \gamma(A^1 - v A^0) \end{bmatrix}$$

$$3) A'_{\mu} = \eta_{\mu\kappa} A'^{\kappa} = \begin{bmatrix} -1 & 0 \\ 0 & 1 \end{bmatrix} \begin{pmatrix} A'^0 \\ A'^1 \end{pmatrix} =$$

$$= \begin{bmatrix} -1 & 0 \\ 0 & 1 \end{bmatrix} \begin{pmatrix} \gamma & -\gamma v \\ -\gamma v & \gamma \end{pmatrix} \begin{pmatrix} A^0 \\ A^1 \end{pmatrix} \leftarrow A^{\mu} = \eta^{\mu\kappa} A_{\kappa}$$

$$= \begin{bmatrix} -1 & 0 \\ 0 & 1 \end{bmatrix} \begin{pmatrix} \gamma & -\gamma v \\ -\gamma v & \gamma \end{pmatrix} \begin{bmatrix} -1 & 0 \\ 0 & 1 \end{bmatrix} \begin{pmatrix} -A^0 \\ A^1 \end{pmatrix}$$

$$= \begin{pmatrix} -\gamma & \gamma v \\ -\gamma v & \gamma \end{pmatrix} \begin{bmatrix} -1 & 0 \\ 0 & 1 \end{bmatrix} \begin{pmatrix} -A^0 \\ A^1 \end{pmatrix}$$

$$= \begin{pmatrix} \gamma & \gamma v \\ \gamma v & \gamma \end{pmatrix} \begin{pmatrix} -A^0 \\ A^1 \end{pmatrix}$$

αρα $A'_{\mu} = \begin{pmatrix} \gamma & \gamma v \\ \gamma v & \gamma \end{pmatrix} A_{\mu}$

$$A'^{\mu} = \begin{pmatrix} \gamma & -\gamma v \\ -\gamma v & \gamma \end{pmatrix} A^{\mu}$$

$$4) A^\nu A_\nu = -(A^0)^2 + (A^1)^2$$

$$5) A'^\mu A'_\mu = -(A'^0)^2 + (A'^1)^2$$

$$= -(\gamma(A^0 - \upsilon A^1))^2 + (\gamma(A^1 - \upsilon A^0))^2$$

$$= -\gamma^2(A^0)^2 - \gamma^2\upsilon^2(A^1)^2 + \underbrace{2\gamma A^0 \upsilon A^1}_{\text{cross term}} + \gamma^2(A^1)^2 + \gamma^2\upsilon^2(A^0)^2 - \underbrace{2\gamma A^1 \upsilon A^0}_{\text{cross term}}$$

$$= [\gamma^2(1 - \upsilon^2)](A^1)^2 - [\gamma^2(1 - \upsilon^2)](A^0)^2$$

$$= -(A^0)^2 + (A^1)^2$$